[_TVC(c,b,ch)=(0,0,0) F2=*/#1 | _TVC(c,b,ch)=(0,0,1) F*°'=1 [ TvC(c,b,ch)=(0,0,2) F**'*] [ TvC(c,b,ch)=(0,0,3) J='>
4000g ' [p1 -34.1% 0.0 4000, ' [pr 3226+ 000 4000, ' [pr 34132000 4000, ' [pr 3349+ 000
3000 ] 3000 4 3000 ] 3000 1
2000 4 2000 = 2000 ] 2000k ]
10001 C = 29,33 [ps/ch ] looor- C = 29.19 [ps/ch ] 1000 C = 29.30 [ps/ch ] 10001 C = 29.86 [ps/ch] ]

1 1 - 1 1 - : 1 1 - : 1 1 -
0 50 00 0 50 00 0 50 00 0 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TVC(c.b.ch)=(0,0,4) =1 | TVC(c.b.ch)=(0,0.5) = [ TVC(c,b,ch)=(0,0,6) [**'*] [ TVC(c,b,ch)=(0,0,7) J"=*'>
4000 ! | pl -34.29+ 0.00 4000 ! | pl -34.58 + 0.00 4000 e ! | p1 -33.17 + 0.00 4000k ! | pl -34.56 + 0.00
3000[ n 3000} 4 3000k ] 3000 4
2000 n 2000} E 2000k ] 2000 :
W0oF C = 29.16 [ps/ch]\,_ ] 10%F C = 28.92 [ps/ch ] w00k ¢ = 30.15 [ps/ch] . 7 w0or € = 28.93 [ps/ch[\,_ 7

0 5‘0 10‘0 5‘0 1C:0 0 5‘0 10‘0 0 5:) 1(;0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TVC(c.b.ch)=(0,0,8) F7=/*1 | TVC(c.b.ch)=(0,0,9) "> [ TVC(c,b,ch)=(0,0,10) F=*'*] [ TVC(c,b,ch)=(0,0,11) F?=*'>
4000 ! | p1 -37+ 0.0 4000 e ! | p1 -35.68 + 0.00 4000 - ! | p1l -35.84 + 0.00 4000 paes ! | pl -35.41+ 0.00
3000 E 3000 — 3000 — — 3000 4
2000 . 2000 - 2000 :— —: 2000 e
10001 C = 27.02 [ps/ch ] 1000 C = 28.03 [ps/ch ] w00} C = 27.90 [ps/ch ] 10001 C = 28.24 [ps/ch ]

1 1 - 1 1 -- L 1 1 -- ] 1 1 --
0 50 100 50 100 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TVC(c,b.ch)=(0,0,12) J*/*1 | TVC(c,b,ch)=(0,0,13) J*°">} [ TVC(c,b,ch)=(0,0,14) F™“*'*] [ TVC(c,b,ch)=(0,0,15) J='>
4000 ! |p1 -35.92+ 0.00 4000 [, ! |p1 -35.17 % 0.00 4000, ! |p1 -34.86 + 0.00 4000 [ ! |p1 -34.19.+ 0.00
3000 -1 3000 - 3000 :— _: 3000} -1
2000 1 2000 4 2000 — — 2000 B
1000F C = 27.84 [ps/ch ] 0001 C = 28.44 [ps/ch] 1 1000} C = 28.69 [ps/ch . w00} C = 29.25 [ps/ch] ]

L L L L 1 L L L L 1 -u- L 1 L L 1 -u- L L L L 1 L L L L 1 b L L L L 1 L L L L 1 -u-
0 50 00 50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




[1veebeh=(o.10) Fiiw] [_Tveeben=(o1.1) FiI7) [Tveebeh=(o12) FEnTl] [Tvcebeh=(01.3) FIi®
4000 e ! | p1 3422+ 0.00 4000 e ! | p1 -35.03+ 0.00 4000 o, ! | p1 36+ 0.0 4000 fom ! | p1 -36.09+ 0.00
3000 4 3000 - 3000 — — 3000 -
2000F ] 2000} ] 2000 — — 2000 B
woof C = 29.22 [ps/ch ] w0l C = 28.54 [ps/ch . w00} C = 27.78 [ps/ch . woof C = 27.71 [ps/ch .

I I - I I - : I I =] L I -
0 50 100 0 50 100 0 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TvC(c.b.ch)=(0,1,4) F>/>1 | TVC(c.b.ch)=(0,1,5) == [ TVC(c,b,ch)=(0,1,6) F***] [ TvC(c,b,ch)=(0,1,7) F='>

4000 o, ! |p1 -34.41+ 0.00 4000 fam, |p1 -34.47 + 0.00 4000 e, ! |p1 -35.22+ 0.00 4000 [, ! |p1 -34.41% 0.00

3000

2000

10001 C = 29.06 [ps/ch]

/

3000

2000

10001 C = 29.01 [ps/ch] ]

3000~
2000~

w0 ¢ = 28.39 [ps/ch

/|

3000

2000

10001 C = 29.06 [ps/ch] y

; % o % oo 5 % o ; % o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
[_TVC(c.b.ch)=(0,1,8) J=*"} [ TvC(cb,ch)=(0,1,9) F7=*=]} [ TvC(c,b,ch)=(0,1,10) J*°'*] [ TvC(c,b,ch)=(0,1, 11) F='=
4000 [ ! | pl -35.06+ 0.00 4000 [ ! | pl -34.33+ 0.00 4000, ! | pl -35.20+ 0.00 4000 ., ! | p1 -35.32+ 0.00
3000 -1 3000 - 3000 L ] 3000 -1
2000 - 2000} n 2000 — — 2000 -
10001~ C = 28.52 [ps/ch y 1000 C = 29.13 [ps/ch] . 1000 C = 28.33 [ps/ch ] 1000 C = 28.31 [ps/ch ]
1 1 - 1 1 - [ 1 1 "= 1 1 --
0 50 100 50 100 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
[[TvC(e.b.ch)=(0,1,12) >} [ TvC(c,b.ch)=(0,1,13) J**'®] [ TvC(c,b,ch)=(0,1,14) 7=/} [ TvC(c.b,ch)=(0,1,15) J=ro=
4000 - ! |p1 -37.01+ 0.00 4000 fFem, ! |p1 -37.69+ 0.00 4000 e, ! |p1 -36.72+ 0.00 4000 pues ! |p1 -36.82 + 0.00
3000 -1 3000 - 3000 :— —: 3000 -1
2000f 1 2000 B 2000 — — 2000 1
1000 C = 27.02 [ps/ch 1 1000 C = 26.53 [ps/c 1 1000:- C =27.23 [ps/ch 7 1o0or C = 27.16 [ps/ch 1
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




| TVC(c,b,ch)=(0,2,0) r498+04/25

4203+ 0.0

4000 | ! |pl

-36.28 + 0.00

3000

2000

1000 C = 27.57 [ps/ch

V

1
100

TP delay [ns]

[_TVC(c,b,ch)=(0,2,1) [t
4000 e, ' [pr 3545+ 000
3000 -
2000 -1
1000 C = 28.21 [ps/ch 7]

1 1 -
0 50 100

TP delay [ns]

[ TvC(c,b,ch)=(0,2, 2)

88e+04 / 25

4000 .
3000

2000

1000F C = 27.94 [ps/ch .

/]

4214+ 0.0

| pl -35.79+ 0.00

0

50

0
TP delay [ns]

[ TvC(c,b,ch)=(0, 2, 3)

19e+04 / 25
4222+ 0.0

4000 fe ' [p1 -ses5:000

3000 7

2000 7

1000F C = 27.36 [ps/ch ]
% 55 10'0--

TP delay [ns]

[_TvC(c.b.ch)=(0.2,4) J=/>1 | TVC(c.b.ch)=(0.2.5) > [ TVC(c,b,ch)=(0,2,6) F=**] [ TVC(c,b,ch)=(0,2,7) J*'>
4000 &, ! | p1 -35.65+ 0.00 4000 5, ! | p1 36,54 + 0.00 4000 -, ! | p1 .36.28 + 0.00 4000 . ! | p1 37.15+ 0.00
3000 - 3000 - 3000 E— —E 3000} -
2000 B 2000 - 2000 S— —f 2000} 4
1000 C = 28.05 [ps/ch ] lo0oF C = 27.37 [ps/ch ] 10002' C =27.56 [ps/ch ' 1000F C = 26.92 [ps/c 7

0 5‘0 10‘0-- 0 5‘0 10‘0-- O(J: 5‘0 10‘0-- ] G(J 5:) 1(;:)--

TP delay [ns]

TP delay [ns]

TP delay [ns]

TP delay [ns]

[Cvceben=028) Toor] [[veebeh=(0.20) Frmn| [veeben=(0.2.10) oo [voeben=021) Foe
4000 [ ! | pl -35.62+ 0.00 4000 [, ! | pl -36.28+ 0.00 4000, ! | pl -36.12 + 0.00 4000 fam ! | p1 -35.88+ 0.00
3000 g 3000 E 3000 — — 3000 -
2000 ] 2000} 4 2000 — — 2000 1
woof C = 28.08 [ps/ch 1 w00F C = 27.56 [ps/ch ] w00F- C = 27.69 [ps/ch . wool C = 27.87 [ps/ch 1

1 1 - 1 1 -- ! 1 1 -- : 1 1 --
0 50 100 50 100 50 100 0 50 100

TP delay [ns]

TP delay [ns]

TP delay [ns]

TP delay [ns]

TVC(C,b,Ch):( 0,2, 12 ) r5BE+04/25

4246+ 0.0

4000 e ! (o2

-36.74 + 0.00

3000
20001

1000~ C = 27.22 [ps/ch

/
/|
/|

P
100

TP delay [ns]

TVC(c,b,ch)=(0, 2, 13) I7829+04/25

4230+ 0.0

4000 !

30001

20001

1000F C =27.21

[

|p1 -36.75+ 0.00

ps/ch 7

.50.

105
TP delay [ns]

TVC(c,b,ch)=(0, 2,14) P**'>

4247+ 0.0

4000
3000

2000

1000F C = 26.94 [ps/ch .

| pl -37.12+ 0.00

.50.

"
100
TP delay [ns]

TVC(c,b,ch)=(0, 2, 15) I788e+04/25

4245+ 0.0

4000

30001

20001

T |p1

-36.93+ 0.00

1000 C = 27.08 [ps/ch

o

P
100

TP delay [ns]




[_TvC(ebech)=(0.3,0) Fi's] [_TvCebeh=(0.3.1) Fiots| [_TvCebch=(0.3,2) ol [_TvCeb.ch=(0.3,3) i
4000 [, ' [pr 3612+ 000 4000 o, ' [p2 486+ 000 4000 o, ' [p2  -s6.3:000 4000 e ' [pr 3589+ 000
3000 E 3000 3 3000 — — 3000 4
2000 - 2000 . 2000 — — 2000 -
woof C = 27.68 [ps/ch 1 woof C = 28.61 [ps/ch ] woof C = 27.68 [ps/ch . woof C = 27.86 [ps/ch 1

% 5% 100 - 0 EY 0 % % 100 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TvC(c.b.ch)=(0,3,4) J*/>1 | TvC(c.b.ch)=(0.3,5) F=°'>1 [ TVC(c,b,ch)=(0,3,6) [=*] [ TVC(c,b.ch)=(0,3,7) J=*'>
4000 k5, ! | p1 34.77+ 0.00 4000k, ! | p1 35,26+ 0.00 4000, T | pl -36.71 0.00 4000 ! | pl -35.45+ 0.00
3000 1 3000 B 3000 - - 3000 1
2000 4 2000 E 2000 - - 2000 1
1000 C = 28.76 [ps/ch ] 10001~ C = 28.36 [ps/ch 7] 1000:' C =27.24 [ps/ch 1 1000 ]

I I - I I - oL I I " I I -
0 50 100 50 100 0 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[(veepen=038) Tror| [hecaczrse) Tor| [(egha=si0) Fror| [veehen=0310) Frr
4000 [ ! | pl 347+ 0.0 4000 ! | pl -35.17 % 0.00 4000, ! | pl -35.01+ 0.00 4000 ! | p1 -35.72+ 0.00
3000 4 3000 1 3000 — — 3000 4
2000 h 2000 ] 2000 ] 2000 ]
w00k € = 28.82 [ps/ch]\,_ ] 1008 C = 28.43 [ps/ch\,_ ] w00 C = 28,56 [ps/ch\,_ 1 w00f C = 28,00 [ps/chN, 7

1 1 - 1 1 - [ 1 1 - 1 1 --
0 50 10 50 100 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b,ch)=(0, 3,12) I7453+04/25

4259+ 0.0

4000 e

3000

2000

3) -

-36.71+ 0.00

T |p1
1000 C = 27.24 [ps/ch ]

0

50

PR
100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 13) r11e+04/25

4250+ 0.0
4000 ! |pr 35142000
3000 B
2000 B
1000 C = 28.46 [ps/ch 7
-
-
L L L L 1 L L L L 1 |-
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 14)

I.53e+04 125

4270+ 0.0

4000 ! |pr  -36282000
3000 L 3
zooo:— —
10001~ C = 27.57 [ps/ch ]
[ X L X N 1 - <4

50 100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 15) '.35e+04/z5

4266+ 0.0
4000 e, ! |pr  -ss26: 000
3000 1
2000 1
10001 C = 28.36 [ps/ch ]

.

-

L 1 L L 1 -
50 00

TP delay [ns]




[hCeben=(020) Town| [veeben=(oa1) P [vcehen=042) Toon| [(vceben=0a3) Trs
4000 ' [p1 37+ 0.0 4000 ' [pr 3541000 4000 ' [pr 3042000 4000 o, ' [pr 36542000
3000 q 3000 g 3000 — — 3000 q
2000 - 2000 — 2000 :—- —: 2000 -
w0l C = 27.03 [ps/c . woof C = 28.24 [ps/ch . w000} C = 26.29 [ps/c . woof C = 27.36 [ps/ch .

% 5% 00 0 EY 0 % % 00 % 5 o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TVC(c.b.ch)=(0.4,4) F =1 | TVC(c.b.ch)=(0.4,5) F=°= [ TVC(c,b,ch)=(0,4,6) F=**] [ TVC(c,b.ch)=(0,4,7) J=*'>
4000 e ! |p2 -36.38 + 0.00 4000 [ ! |p2 -36.8+ 0.0 4000 ! |p2 -37.92+ 0.00 4000 [ ! [p2 -37.15+ 0.00
3000 — 3000 - 3000 :— —: 3000 -
2000 - 2000 1 2000 :—- —: 2000 1
Lo C = 27.49 [ps/ch ] looor C = 27.18 [ps/c ] w00 C = 26.37 [ps/c ] looor C = 26.92 [ps/c ]

C(J 5‘0 10‘0 = 0 5‘0 1(?:0 = O(J- 5‘0 10‘0 = G(J 5:) 1(;0 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TVC(c.b.ch)=(0,4,8) ™= | TVC(c.b.ch)=(0,4,9) F=°> [ TVC(c,b,ch)=(0,4,10) F'*] [ TVC(c,b,ch)=(0,4,11) J='>
4000 |- ! |p1 349+ 0.0 4000 [, ! |p1 -34.96 + 0.00 4000 e, ! |p1 -35.52+ 0.00 4000 fam, ! |p1 -36.12+ 0.00
3000 4 3000 4 3000 — — 3000 E
2000~ - 2000 - 2000 — — 2000 —
10001~ C = 28.66 [ps/ch 1 10001 C = 28.60 [ps/ch] 7] 1000:‘ C =28.15 [ps/ch 7] 1000 C = 27.69 [ps/ch 1

1 1 - 1 1 - [ 1 1 -1 1 1 -
0 50 100 50 100 50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(C,b,Ch):( 0, 4,12 ) I3058+04/25

4228+ 0.0

4000 [ ¥ T

-36.39+ 0.00

3000

2000

o). E S S S I —

woof C = 27.48 [ps/ch

0 50

PR
100

TP delay [ns]

TVC(c,b,ch)=(0, 4, 13)

I 57e+04 / 25
4237+ 0.0

4000 [ ¥ T

-36.34+ 0.00

3000

2000

[o) I E——

1000 C = 27.52 [pS/Ch ]

50
TP del

o5
lay [ns]

TVC(c,b,ch)=(0, 4, 14) I752e+04/z5

4228+ 0.0

4000 - T |p1

-36.63+ 0.00

3000
2000F

woof- C = 27.30 [ps/ch

o---..l

/]

50

P
100

TP delay [ns]

TVC(c,b,ch)=(0, 4, 15) r09e+04125

4236+ 0.0

4000 ¥ T

-37.41+ 0.00

30001
20001

1000 C = 26.73 [ps/c

/

P
100

TP delay [ns]




[_TVC(c,b,ch)=(0,5,0) J**/®] | _TVC(c,b.ch)=(0,51) F=°'>I [ TvC(c,b,ch)=(0,5,2) F***] [ TvC(c,b.ch)=(0,5,3) J“*'>
4000, ” ! [p1 36,6+ 0.0 4000, ! [pr 3752+ 000 4000, ! [p1 -36.7+ 0.0 4000, ! [pr 36062000
3000 E 3000 ] so00f ] 3000 E
2000 ] 2000 ] 2000} ] 2000f ]
w00} C = 27.32 [ps/c ] w00} C = 26.65 [ps/c ] w000} C = 27.25 [ps/c ] woof C = 27.73 [ps/ch .

% 5% o % EY Fom % % o 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TvCeben=(054) Fr] [_Tveeben=(055) Fii'| [_TvCebeh=(0.56) Fiiml [_TvCeben=057) [
4000 o, ! |pr 35162000 4000, ! |pr  -36.09+000 4000, ! -35.9:% 00 4000, ! |pr 3375+ 000
3000k ] 3000 1 3000 8
2000} E 2000 T 2000k ]
1000 C = 28.44 [ps/ch ] lo0oF C = 27.71 [ps/ch 1

1
50 100

TP delay [ns]

50

1
100

TP delay [ns]

> [o2
3000:—
2000:—
w00 C = 27.86 [ps/ch

0

1
50 100

TP delay [ns]

1000 C =29.63 [pS/Ch] 4

0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0,5,8) >

4181+ 0.0

4000 |,

=
3000

2000

wool = 29.09 [ps/ch 1

T
| pl -34.38 + 0.00

50 100
TP delay [ns]

TVC(c,b,ch)=(0

5 9) r89e+04/25

4200+ 0.0

4000 |, T

=
3000

2000

1000 C =28.32 [pS/Ch ]

| pl -35.31+ 0.00

50

10‘0
TP delay [ns]

TVC(c,b,ch)=(0, 5, 10) I17ee+04/25

4000,

3000:— _:
2000:— _:
1000:— C = 28.47 [ps/ch _

4224+ 0.0
T
| pl -35.12 + 0.00

50 100
TP delay [ns]

TVC(c,b,ch)=(0, 5, 11) I773e+o4/25

4218+ 0.0

4000,

3000

2000

1000

T
| pl -34.63+ 0.00

50 100
TP delay [ns]

TVC(C,b,Ch):( 0,5, 12 ) r248+04/25

4195+ 0.0

4000

3000 ]
2000 ]
10001~ C = 28.86 [ps/ch ]

| pl -34.64 + 0.00

0

50 00—
TP delay [ns]

TVC(c,b,ch)=(0,

5 13) r74e+04/25

4201+ 0.0

4000 ;

3000 1
2000 ]
WOF C = 28.97 [ps/ch]\,_ 7

|P1 -34.52 + 0.00

50

100
TP delay [ns]

TVC(c,b,ch)=(0, 5, 14) ro5e+o4/z5

4205+ 0.0

4000,

3000

: ' T
2000:-
1000:- C = 28.15 [ps/ch

-35.52+ 0.00

50 o0
TP delay [ns]

TVC(c,b,ch)=(0,5, 15) '.499+04/25

4203+ 0.0

4000,

3000

2000

wool C = 28.54 [ps/ch h

u
|pr  -ss.042000

L 1 I I I 1
50 100

TP delay [ns]



[ TvC(c,b,ch)=(0,6,0)

87e+04 / 25

4206+ 0.0
4000 [ ! [pr 3645+ 000
3000 1
2000f 1
1000 C = 27.43 [ps/ch ]
-
-
-
1 1
% 50 00

TP delay [ns]

[ TvC(c,b,ch)=(0,6,1)

76e+04 / 25
4197+ 0.0

4000 foe, ! [p2

-35.86+ 0.00

3000+

2000

1000 C = 27.89 [ps/ch

V|

1
100

TP delay [ns]

[_TvC(c,b,ch)=(0,6,2) o>
4000, ! [pr 35562000
3000:— -
2000 -— '-
wook ¢ = 28.12 [ps/ch .

r , =]
0 50 100

TP delay [ns]

[_TvC(cbch)=(0.6,3) [’
4000 [om ! [p2 36102000
3000 7]
ook ]
1000F C = 27.63 [ps/ch ]

% 5 10'0--

TP delay [ns]

[_TvC(c.b.ch)=(0.6,4) J“=/®I | TVC(c.b.ch)=(0.6,5) F=°> [ TVC(c,b,ch)=(0,6,6) F**'*] [ TVC(c,b,ch)=(0,6,7) J='>
4000 ! |pr  -s631000 4000, ! |[pr  -ss12:000 4000 ! |pr  -a5762000 4000, ' [pr  sa77:000
3000 -1 3000 - 3000 : _: 3000 T
2000 T 2000 — 2000f 3 2000 B
1000 ] w00F C = 28.47 [ps/ch 1 10001 ] 1000r C = 28.76 [ps/ch ]

0 1 L= 1 | - . ) "
0 50 100 50 100 0 50 100

TP delay [ns]

TP delay [ns]

TP delay [ns]

TP delay [ns]

[_TvC(c.b.ch)=(0,6,8) F*=>/*] | _TVC(c.b.ch)=(0,6,9) [7°>| [ TVC(c,b,ch)=(0,6,10) F=*'*] [ TVC(c,b,ch)=(0,6,11) J=o'>
4000 [, ! [o1 36,51+ 0.00 4000 [ ! [p1 36242000 4000, ! [p1 37062000 4000 ! [p1 37410000
3000 -1 3000 - 3000 :— —_ 3000 -1
2000~ - 2000 - 2000 :— —E 2000 1
10001~ C = 27.39 [ps/ch b 10001- C = 27.59 [ps/ch . 10005- C =26.98 [ps/ch b 10001 C = 26.73 [ps/c b

o o % it o L o n

TP delay [ns]

TP delay [ns]

TP delay [ns]

TP delay [ns]

4223+ 0.0

4000 T [o2

TVC(c,b,ch)=(0, 6,12) I7465+04/25

-34.84 + 0.00

3000

2000

1000

P
100

TP delay [ns]

4000 ! [o2

TVC(c,b,ch)=(0, 6, 13) r12e+04/25

4216+ 0.0
-35.03+ 0.00

3000

2000

1000 C = 28.55 [ps/ch

V

.50.

P
100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 14) r79e+o4/z5

4220+ 0.0
4000 ! |p2 -35.71+ 0.00
3000 1
2000 .
1000 C = 28.01 [ps/ch ]
[ -
- - 1
L1 L1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 15) r08e+04125

4222+ 0.0

4000 ! [o2

-35.47 + 0.00

3000

2000

1000F C = 28.19 [ps/ch ]

50

PR
100

TP delay [ns]




[_TVC(c,b,ch)=(0,7,0) F*/®] | _TVC(cb.ch)=(0,7,1) F=°'=1 [ TvC(c,b,ch)=(0,7,2) [='*] [ TvC(c,b,ch)=(0,7,3) ==
4000 [ ! | pl -37.37+ 0.00 4000 [ ! | p1 -37.67 % 0.00 4000 ! | p1 -38.01 0.00 4000 g ! | p1 37+ 00
3000 4 3000 5 3000 — — 3000 1
2000 -1 2000 - 2000 :—- —: 2000 -1
1000 C = 26.76 [ps/c ] 1000 C = 26.55 [ps/c 7] w000F C = 26.31 [ps/c 7] 1000 C = 27.03 [ps/ch ]

% 5% o % EY 00 % % 05 % 5 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TvC(c.b.ch)=(0,7,4) J=/>1 [ _TVC(c.b.ch)=(0.7.5) == [ TVC(c,b,ch)=(0,7.6) J*/#] [ TVC(c,b,ch)=(0,7,7) [ />
4000 [, ! | pl -35.35:_0.50 4000 G, ! | pl -36 04:_0 olo 4000 ! | p1 -35.27:_0.06 4000 ! | pl -34.68 :_o,c;o
3000 4 3000 1 3000 — — 3000 1
2000 ] 2000 E 2000 . 2000[ §
1000 C = 28.29 [ps/ch 5 1000 C = 27.75 [ps/ch 7] 1000:‘ C =28.35[ps/ch _ 10001 C = 28.83 [ps/ch] ]

1 1 - 1 1 - : 1 1 - : 1 1 -
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